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Questionl:-Which of the following statements about Sahodaran Ayyappan is/are
correct?

(i) In 1933, Ayyappan started a news paper called 'Velakkaran'

(ii) He became a member of Cochin Prajamandal.

(iii) He fully supported Hindu Mahamandal formed by Mannath Padmanabhan and
R. Sankar.

(iv) He took initiative to begin 'Yuktivadi' journal along with K. Rama Varma
Thampan.

A:-Only (i), (ii) & (iii)
B:-Only (ii), (iii) & (iv)
C:-Only (i), (ii) & (iv)
D:-Only (iii) & (iv)
Correct Answer:- Option-C
Question2:-Which of the following is not a book of Vagbhadananda?
A:-Sivayogavilasam
B:-Abhinavakeralam
C:-Atmavidyakahalam
D:-Darsanamala
Correct Answer:- Option-D

Question3:-Match the following statements and years about Poikayil Appachan.
Which of the following option is correct?

Statements Year
(a) Appachan joined in Sadhujana Paripalana Sangam of Ayyankali in (1) 1909
(b) He started PRDS in (2) 1921
(c) He was nominated to Sree Mulam Prajasabha in (3) 1907

A:-(a) - (1), (b)-(2), (c)-(3)
B:-(a) - (3), (b)-(1), (c)-(2)
C:-(a) - (2), (b) - (1), (c)-(3)
D:-(a) - (1), (b)-(3), (c)-(2)
Correct Answer:- Option-B

Question4:-Which of the following statements about Swadeshabhimani
Ramakrishna Pillai is/are correct?



(i) He was the editor of news papers, Kerala Darpanam and Malayali.

(ii) Ramakrishna Pillai severely attacked the autocratic policies of the Dewan
P. Rajagopalachari.

(iii) He was elected without contest to Sri Mulam popular Assembly in 1910.

A:-Only (i)

B:-Only (ii)

C:-Only (iii)

D:-All three statements are correct
Correct Answer:- Option-D

Question5:-Who wrote the famous pamphlet, 'Travancore for the Travancoreans' in
the context of Malayali Memorial?

A:-Dr. Palpu

B:-Barrister G.P. Pillai

C:-Mannathu Padmanabhan
D:-Swadesabhimani Ramakrishna Pillai
Correct Answer:- Option-B

Question6:-Math the following leaders of Indian freedom movement and their
books. Which is the correct answer?

Leaders Books

Aurobindo Ghosh (i) Bhagavadgita Rahasya

Subas Chandra Bose (ii) Glimpses of World History

Bal Gangadhar Tilak (iii) The Life Divine

Jawaharlal Nehru (iv) The Indian struggle

A:-(a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)
B:-(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
C:-(a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
D:-(a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
Correct Answer:- Option-B
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Question7:-Consider the following events in Indian freedom movement and
chronologically arrange them.

Which is the correct chronologically arranged option?

(i) The Cripps Mission

(ii) The INA caputred Imphal and Kohima

(iii) The August offer

(iv) The Quit India Movement

A:-(i), (iii), (ii), (iv)
B:-(i), (ii), (iv), (iii)
C:-(iii), (ii), (i), (iv)
D:-(iii), (i), (iv), (ii)
Correct Answer:- Option-D

Question8:-A notable episode which attracted the attention of the whole country in



connection with the Indian freedom struggle was the arrest and trial of Mrs. L.S.
Prabhu of Tellicherry. This incident is associated with

A:-Quit India Movement
B:-Civil Disobedience Movement
C:-Malabar Rebellion
D:-Communist Movement
Correct Answer:- Option-B
Question9:-The revolutionary Lala Har Dayal is associated with
A:-H.S.R.A
B:-Alipore conspiracy case
C:-Ghadar Party
D:-Lahore conspiracy case
Correct Answer:- Option-C
Question10:-The second president of Indian National Congress is
A:-Badruddin Tyabji
B:-George Yule
C:-Dadabhai Naoroji
D:-Annie Besant
Correct Answer:- Option-C

Question11:-Which is the indigenous beyond visual range air-to-air missle
(BVRAAM) successfully conducted flight test recently by DRDO and IAF?

A:-Agni-V

B:-BrahMos

C:-Nag

D:-Astra

Correct Answer:- Option-D

Question12:-Which National Park in Kerala has emerged as the highest-scoring
individual protected area in the management effectiveness evaluation carried out
by the Union Ministry of Environment, Forest and climate change for 2020-20257

A:-Silent Valley
B:-Eravikulam
C:-Mathikettan Shola
D:-Anamudi Shola
Correct Answer:- Option-B
Questionl3:-Where is the famous hill station Mount Abu located?
A:-Rajasthan
B:-Himachal Pradesh



C:-Uttarakhand
D:-Meghalaya
Correct Answer:- Option-A
Questionl4:-Who is the present Chairman of ISRO?
A:-K. Sivan
B:-S. Somanath
C:-K. Radhakrishnan
D:-V. Narayanan
Correct Answer:- Option-D

Question15:-Which Constitutional Amendment added the term 'Secular' to the
preamble of the Indian constitution?

A:-44th Amendment
B:-42nd Amendment
C:-52nd Amendment
D:-36th Amendment
Correct Answer:- Option-B

Question16:-Which of the following most accurately describes the main goal of
Action Research in education?

A:-To test new educational theories in laboratory settings
B:-To test standardized curriculum effectiveness across different schools

C:-To improve teaching practices and student outcomes through reflective,
classroom-based inquiry

D:-To conduct large-scale studies for generalizable results
Correct Answer:- Option-C

Questionl7:-According to Howard Gardner's theory of multiple intelligences, which
type of intelligence involves the ability to understand and appreciate relationship
without relying on physical action or objects?

A:-Visual spatial intelligence
B:-Bodily-Kinaesthetic Intelligence
C:-Logical Mathematical Intelligence
D:-Intrapersonal Intelligence
Correct Answer:- Option-C

Question18:-Which of the following best describes the highest level in Bloom's
Revised Taxonomy of Educational Objectives?

A:-Applying - using information in new situations

B:-Creating - producing new or original work

C:-Analysing - breaking information into parts to explore relationships
D:-Evaluating - making judgements based on criteria and standards



Correct Answer:- Option-B

Question19:-What is the primary objective of microteaching in teacher education?
A:-To evaluate student performance through standardized testing
B:-To develop comprehensive curriculum plans for entire academic years
C:-To replace field teaching experience with theory-based instruction

D:-To practice and refine specifc teaching skills in a controlled, brief setting
with immediate feedback

Correct Answer:- Option-D

Question20:-According to Vygotsky's sociocultural theory, what does the Zone of
Proximal Development (ZPD) refer to?

A:-The gap between a learner's actual independent performance and their
potential performance with expert guidance

B:-The maximum level of achievement attainable through repetition alone

C:-The innate capabilities a learner possesses without assistance

D:-The fixed stages of cognitive development predetermined by age

Correct Answer:- Option-A
Question21:-Yemeumd eflerssmisafled @mLUAL L Heterouly wrj? "FRisFDELMTSS)
LIMmeT LHMID LicueuSgibd sLaled 2 enanred <&Cwrfler waer. Sm euwidledmbGs,
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A:-piCarg @Loren

B:-&l. &l(meigemre

C:-8l.e. @eraudl et

D:-5Cansriy <jwliLien

Correct Answer:- Option-B
Question22:-Cayermallen wpsSlw Guerasamerts Lpdlw Memeumbd gmhmgeate 6rg
Fiflwimeng,?
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(iii) Smelgmmigafler &L ggianmuiled LI L 1D QUDHm (LPS6ed GlLIGHT ETETT FTEuTlq <L,
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Correct Answer:- Option-D
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Correct Answer:- Option-B
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augerHorElfluy Cs.erer. Lamflésy er(pdluig).

Correct Answer:- Option-D
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Correct Answer:- Option-D
Question26:-glenL_&ame (pevediid <, Flwimeriseter el BL el samsseter e
LEHWTE @)(HS@GD dapmiser SCp Qarhdssiul(Hdterar. eThs dobhn/gmDmser
sflurereneu?
(i) 'sUss-Q-pAf' Ussssder A flwgrar Banapre-o ev-ermy, @agidley Hmedv
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D:-(i), (ii) sapm&eT SeupTEng)

Correct Answer:- Option-C
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A:-sp87@Ls Cwerfluy
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C:-Qpgismrer

D:-Gleaumdled ergieyLsldbeney

Correct Answer:- Option-B
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Qam_misli’ L g).
A:-(i), (iii), (iv), (ii)
B:-(ii), (i), (iii), (iv)
C:-(ii), Giii), (i), (iv)
D:-(ii), (i), (iv), (iii)

Correct Answer:- Option-B
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A:-CurGgeveurre

B:-eLoaumiy eren. LSLOBTL Lienfl&s )

C:-euetergComer prymuient GLoemet

D:-@wryermamen

Correct Answer:- Option-A
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Correct Answer:- Option-D
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Correct Answer:- Option-A
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Correct Answer:- Option-B
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Correct Answer:- Option-A
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Correct Answer:- Option-D
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A:- 981 L_er

B:-paquim
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D:-Cweflwim

Correct Answer:- Option-D
Question36:-sL_a euplwrs Flw Hleomgsamers sear_dlw Gsmobuey Liwierhgsw
slLdsefley lemeumouareumley 6Tgl @eveney?

A:-grasTLm Wwiflum



B:-QasorLmm
C:-al&GLmflum
D:-blerm
Correct Answer:- Option-C
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B:-(ii), (iv) b HCw sflurerg
C:-(i), (ii), (iii) L HCGw Fflwrearg
D:-oiemans gl sanmisend (i), (i), (iii), (iv) Fiflumeren e
Correct Answer:- Option-C
Question38:-CwberiturgCallwneder ‘o ' parsHedlmbg ewrumilger Gleearn
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A:-Eeorm
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C:-@pCasrCeardluim
D:-@emiens
Correct Answer:- Option-B
Question39:-prell yyFwailuien fEHws srald gevm erhsll Gluwifled Silwiul’ L g?
A:-Gaam
B:-L_emeiv

C:-fleuliyd sl SaIser



D:-Q&evL_Guim

Correct Answer:- Option-D
Question40:-m&dlw prihger senuufen Clumgd GFwemerisearmsl Lewtwmhmlwieurgsert e
Quuifger $Cp Qarhdsiul(Hdrarar. alfsafler Comous sramigaman L (HLb
STeeUflenFLILIG (LPHEIGMLOESHE|LD.
(i) o gmeurl_
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(iv) a7l eumebl_Glamuid

A:-(ii), (iii), (i), (iv)

B:-(ii), (i), (iv), (iii)

C:-(i), (iv), (i), (iii)
D:-(i), (iii), (ii), (iv)
Correct Answer:- Option-B
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A:-iemeu Bl QurmLger

B:-iemeu wmhmy GlummLger

C:-ojameu CarLglldverg GummLser

D:-©ojmneu b @Genmbs ClummL_ser

Correct Answer:- Option-B
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Correct Answer:- Option-B

Question43:-19emeumeusmeud el BB 'Frsmrent LwerUm(h uGlurde)' updw gflwmer



gapml(seamer) CaiblsHEseaLD.
(i) LweTurlepL (P(PENLOWITET GTETEH6Ted jeraill_aumid.
(i) vweruT L (p(pewiTen eramsaile) eralll (Lpiquing).
(iii) @& @ fw eumere] LGLUTLGCT(H CQFTLFLmLWF.
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Correct Answer:- Option-D
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A:-em. 800
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Correct Answer:- Option-D
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Correct Answer:- Option-B
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eThg Cuwfed Sdlwiu®hdng?
A:-CQriCGur elldlgn
B:-gevadip QriiGum eldlsb
C:-oumidl alldlsLd
D:-aflemibLy Hlenaw cusdl (MSF) elldlsid
Correct Answer:- Option-A
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B:-eumeumi
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D:-ep(m Glgevay

Correct Answer:- Option-C

Question48:-em greys GgmE Ll o arer UL ST jeuddlen symaflulledmba
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C:-Blaneowirar eflese

D:-QsmLiy @emrabd

Correct Answer:- Option-C
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B:-=18ls Caeneu Camar GlLmmLser

C:-@eonng eSlHlCwnsn Caerar CummLser



D:-Bu s QummL_ger

Correct Answer:- Option-A
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Correct Answer:- Option-C
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B:-ydlw Qummernsnys Camerens

C:-2 flio preheflwiid, LTGISTUIL HMID &GS HE QsTetans

D:-psobliuy umrs ildlwumen Camerens

Correct Answer:- Option-B
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C:-dlgmolyprisErsd 2,100 sCamflser whmib parlyprsErsE 2,400 sGaomflger

D:-&lpmoliymhisenéa 2,000 sCaorflser whpmib BaFliLnhisEsrsd 2,200 sCamflser

Correct Answer:- Option-A

Question53:-sggieudenenioenil eredll(Heugn @ Cumgeursi LwearU(HSsu(HLD



SjaraiLmear CorGlrerey cuanarallen Q) reT(h HFHEET TenSS GDISE Tnen?

A:-Cami@sg 1§58l w&&seThlsTans LiTeus wHmb Slenl ol L &8l el hHbrss
GU(THLDITEITL LIS,

B:-Qsmi@sg &8l Fwsgeideneno Sjerei(h wHmIb Hen ol L &6
LD&SETOS TN S

C:-Qem@sg 1§l el (H6WLMEs aupLOTETL Liki@E HMID &Ll L &S
D&SATOIG TN LITeued

D:-Qemi@sg FH waasaTsmans Sjere] LHMID SHepL ol L &8l swsfynn
geenLouldlerr ierey

Correct Answer:- Option-C
Question54:-UNDP e Qsribg samsdiu@n wefls Gubur 6 @iluie (HDI),
efls aleTr&Sludlen epemm il LFDTERTEISET 6 6(h BT Iq 6l FTTE) FTHenesHenerT
Sjarall(Hd e dal(H GOWULTEb. HDI & sammédlHoudled LiwamuBiSsULI (B eperm)
ST SET WTeneu?

A:-geafllpul Qrss 2 aTBrl(h 2 HusS, Guhans QnUL el&sb wHmID erpsshley
cildlsLd

B:-gaflpuy Qongs o etpr_ () 2 Husdl, sruller @l eSdgn woHmib erpssley
cidlsLd
C:-gaflpuy Qrss 2 6B (h 2 HusS, eumenn aldlsd wHmb erpssHe] el&lgn

D:-gaflpui Ciorsg o apr() 2 Husdl, Fptidled gpusrab HHID erpssblel
RAEIE

Correct Answer:- Option-D
Question55:-9 e Geavenrl sllagen sarg 1987 Mlsamsudled 'Hlenawimen cuerissl' eremm
Qe LWETLRSS LSO HiHE QS LTedd euarfis o sHsallan LiFaiamsL)
LweL(SsULGSDg. e Goenrl slager Sidldamauller Cuwf erere?

A:-Bog) Qurgieuren erdlF&meLd

B:-&Dmi&F@Lp00 SLLD

C:-gmyuen euf&Ss&0



D:-Qurg Curley

Correct Answer:- Option-A
Question56:-19emau(meuetoupiled ergl @bSluimaler Crirg el jeven?

A:-sriiiuCrage el

B:-QumLser pmid Caameuser cuifl

C:-epvgear <smu euifl

D:-Q&eveu curfl

Correct Answer:- Option-B
Question57:-@BHw mamdlugl Bl o memusms Bbhgl warh sTsSHE BluslsSnmry,
@dleb o aTemey.

A:-gemaeury HMILD Bre@, 2 milienyser

B:-ganevenid Bleuns Fsmfl Hmib emDEFFTMme DenDEFTSHET

C:-5l8 em&sy woHmiD Brem@ 2 nilikdearyser

D:-l9rsof HMID HEDDFFTENE! HEDDFFTEHET

Correct Answer:- Option-A
Question58:-w&geatbsrens LGLUTLIEI®, E&ESET (sTans L F&HS creueumm)
cueTWmGSILMHE DS ?

A:-2pullmid Cumsee Hleosslen LirliLeTe] EHILIL

B:-<pullrid £.15.5 wésdr Gsmeans

C:-ulilpd QansGL(m&E Wwés6T LgTans

D:-ggi5 SICmSL L (5&E WwE&EeT QFTans

Correct Answer:- Option-D
Question59:-Carer Qunernany samsbsBHliL] 2024 @er Lig, 0-14
auwglsEGLl Ul Lalfsafled (30.2 #56igD) Hls waseT Ggrans lfgsmas Gamem
wreul L y@b. 6s Crrsdle 0-14 auwgis@lulLauisafled (19.4 &g,@ﬁg,l_b)
GDOHES &&5ET (FTens ldlss5mas Clameawr wmeul LD @b,

A:-uggabdllLm 108 2 wibsg & CamlLwb Wss @Gamneurerg



B:-weotiyribd s 2 wirhsg & CamLwib &8 @Gameureng)

C:-weotiypbd W& 2 wrhsg & SmEGET Wss Gammauras)

D:-weliypb Ws 2 wibsg & LGSO LT &S &G Dnelrarg)

Correct Answer:- Option-D
Question60:-Cayerm ojpgsmed FweouBhsslLBmn WHCwmmaEsTer S L nmigefle
YereumeusmeLD e Heummer L b 6rg)?

A:-gmwiblrur @eemiser pdHGummaster L Caamel LSLCHT LFTFILIL

mLWRIGTTE ClFwedu (H&lermer

B:-coipa pHCwi Qéensals salpuiseien o iCos ddsmassns @b
MEEIe (pamuldler < srejem euGum SFSD S L b eudu@ssiiLBhdHng

C:-peuCGagen wrbleosslen parliLphisaie eudlsEn 65 cuwgiseE Cohul L
PHLTHEBEE FHTSMILD LHMID AFTel aIPBIGE DS

D:-auCunmygegm LD gFenlpser wHmid enseNl il L (pEuUeUTHEh&EE ieUsy
WasRFall, SHlFmsssrear gLt 2 56, nemel SflFama, < bLjeeren GCaama,
mieurpe| Gurerm o sallseT cupmiGSngl

Correct Answer:- Option-C
Question61:-sirflwe sl dlgafler psHw Qewdur@sear 6 Garhssiul (Hererer.
QaupPladlmibg sflwrer Lfead sarBluicb.
(i) Qurgls HMSH 2 (HEUTESHD
(i) <ir& 2 (Haunssbd
(iii) <irdlwe saoel

(iv) < ssliyyelnmer 6Tl

A:-(i), (iii), (iv) eramiena

B:-(ii), (iii) (iv) eranmienan

C:-(i), (ii), (iii)

D:-GuGev o crem yemensgid (i), (ii), (iii) & (iv)

Correct Answer:- Option-D

Question62:-Crrg samprussang Geunmlsyoms CewudubhSgeugsHaTen epen)



BlUBSENETSHET Wreneu?
(i) uplueTe) LHMLD WE&SET C(FTms GamauTs @\ (HEE Ceusmt(HLb.
(i) ereflu eumpsens.
(iii) QamfleomLlu idley
(iv) CsdeusSHaibd BHMHQID FLOSSHGULD
A:-(ii), (iii), (iv) ereruemay
B:-(i), (ii), (iv) eretruenou
C:-(i), (iii), (iv)
D:-Cupammu semeansgid (i), (ii), (iii) & (iv)
Correct Answer:- Option-B
Question63:-smem yevigeflen @enpuwinaments Camump undlw erelmb sanmisafle
oTg) FFWLMTENEU CTETLIENSS FHewTL HLGLD.
(i) Ogefleurs e wWTeTD STERTEdn iyl SENEEIT
(ii) sea6U WFLEET HMILD LIPSSEUPSSBIGMETL LD&Samil&Es (LpigULiTs)
(iii) @evpwirerenoufen RS (LPig LIS HeTEHLD
(iv) seaveurler S STID (PLpELWTETE LOOMID UFDLIDMDG
A:-(i), (ii), (iv) eresuenay
B:-(ii), (iii), (iv) ereriemeu
C:-(i), (iii), (iv) eremuemau

D:-Cupaadu Siemensgid (i), (ii), (iii) & (iv)

Correct Answer:- Option-C
Question64:-BIrL_mEpL6TD HTFTHEIS APOLILNGT LDFBISMETE HevrL_HlUIeLD.
(i) <mw&sTenas@LL LUTITEELaEMSSHEGD G ulorear Yfléss (W 2 ney
(i) <iemwasraneuudlen gal HL Glummii
(iii) SiemwésisHaiien geflliul L Cummiiy
(iv) Wgswflenr CoeordlEsn

A:-(ii) womid (iv)

B:-(ii) wmmd (iii)



C:-(i) womd (ii)
D:-Cumnaadlu sevenggibd (i), (ii), (i) & (iv)
Correct Answer:- Option-D
Question65:-m&dlw prhgser senuulen srearsslear emeumbd erhsll Wifley wafls
2 flenwsamer CLbLUMHSFHUSHEGD UMHSTUUSDGLD iFliLiemflasliL’ (Hererg)?
(i) YGfley 13
(i) Yfley 50
(iii) 9fley 52
(iv) Qfley 62
A:-(i) wpmibd (iv)
B:-(i) wmmid (iii)
C:-(ii) wpmid (iv)
D:-Cumnaadlu senenggbd (i), (i), (i) & (iv)
Correct Answer:- Option-A
Question66:-pLsag rflwe uphu e o a@renwsdr ECp AsTHsslILL (HeTaTe.
@eupdledmBbg sflwmer uSamesd searrLHlwie,Lb.
(i) @& urrbufu rSwe 2 58 WPn&E TSITs eT(PHSI
(i) Geg.l4. eumi_aen e ey LenL_LiLimeryrg Hwriu®Enmy
(iii) Cpssdlen <ylianet C@ib MHleSluch L FelbTéEs (PWETDT)
(iv) <irflud < uield LHILSEREESE (WP&HWSFeUD Salssg)
A:-(ii) wHmid (iii)
B:-(i) wHmib (iv)
C:-(i) womd (iii)
D:-Cumhaadlu sevenggbd (i), (i), (iii), (iv)
Correct Answer:- Option-C
Question67:-Yeeu(meuareupiler BHsgienm wmpichlen g liLien& QSTaTensSHET cTeneL
TRTLMSS ST MHlLicb?

(i)  <rdlueenoliL eremug FemhissSler dsmhsmer cuenrumss edlfleyu(HssIb



GT(PSLILIL L. A eueamTong @) (Hés Geuemt(hLb
(i) &ellev s L migeT HDH SMEFH FLLMISHEHEEGD FLODTETENE
(iii) slLeammgsmed @uIHmUnl L ¢ &L Lb Srslweeblibng preaurms @)([mHSme
(iv) SibsF s Lib Qeoerg wpnid Sdwermhigermd GFuoLBSS (Plqwmg
A:-(i) wpmid (iv)
B:-(iii) wmmybd (iv)
C:-(ii) wpmibd (iii)
D:-(i) womid (iii)
Correct Answer:- Option-B
Question68:-g\BHlw <irflweenoliber Wifley 368 wpdlweealiLy FHmsSsd LHM
eleurdlgdlmgl. Gemeumeuameumiled ereneu @bsL1 L9Flalled Carassiiul (heTeren?
(i)  BrmepwearmEdlen (p(penWITer OlLHDLTETEnOWITED $l(HSSLD
(ii) promepwearnsSler SpliLy CUELUTETEWITED El(HSSLD
(iii) Swpiy Qu@pburerend LHMID Crss wrilomkisaier eramamilsmauicn Limsluder
OBISSHTTLD
A:-(ii) wpmd (iii)
B:-(i) bmmbd (ii)
C:-(i) wpmd (iii)
D:-(i), (ii) wpmib (iii) enersgILD
Correct Answer:- Option-A
Question69:-19emeumelameun Medl(Hbgl e dal LTl & wrhlegdler LiewTLsamens
SETL_MHlWweyLD.
(i)  erpsiul L rdlweeanoliyy
(i) U Lerelled 2 mdlwimen <yflwievenioliy
(iii) e urpULgLHD WHHD &SHHTLIET B SenoliL
(iv) @reor(h euenswinen < remmishigeter @\ mLiL
A:-(i), (iii) womwb (iv)

B:-(ii), (iii) womibd (iv)



C:-(i), (ii) wpmbd (iv)

D:-Cumnaadlu sevenggibd (i), (ii), (i) & (iv)

Correct Answer:- Option-D
Question70:-Yemeumbd alflsm(hge Casmearanssaialmhgl sThdlws Csmeranssmens
SETL_MHlweyLD.
(i) sOmFGPmOL LTEHSTESO WOHMID CbL(SSHISHeE0
(i)  Slpm LEREFTUSFISEET 2 (THEUTS G560
(iii) Srrorisete @lyamaes Csmpldsamer oardEedss0
(iv) sw B wHOID @Qeves s L 2 Fellenw eULPBIGSH®

A:-(i) wpmid (iii)

B:-(ii) whmid (iv)

C:-(ii) wpmio (iii)

D:-Cumnaadlu senenggbd (i), (i), (i) & (iv)

Correct Answer:- Option-C
Question71:-9Gars CgaT @ Fwilidss ereumn Lflbgiemrsaile ergl sflumamgee?
(i) S8l e, emrdlamearTiiL) wHmID eleT LWETUML g H&Ter HenL(penm bHlFems
SH&TE el L b eweur Couar(HLb.
(i) LEpemusSg e Hlneuamiger Sirflweeamwpliy FHwurs Smssfasiul (H
unglarssiuL CouenT(hlLd.
(iii) vepsTLSEH Corgogaie rdwed s fsar URICHHEEFHL TG
(iv) ueEpsmwsg T Bimeueamiseten elleusTymisamers seuallss bl ojamwasrameuudle
LI@GHETLSS TTeY Senndgent Bluislss Coamr(HLd.

A:-(i) wpmid (iii)

B:-(ii) wmmid (iii)

C:-(i) womd (ii)

D:-(ii) womibd (iv)

Correct Answer:- Option-B

Question72:-Cuwsev Geuifler dlarrsgieusdlen L ger [emel(helareudmled creney



TRTLMSS STl MHlwieLb.
(i) Ceuemer gmins Caenal
(i) e QBLGCeurys eraflevmen jenLoliL]
(iii) mOBlemeend WHMID LT FLleTento
(iv) uEssdley 2yl Yfley
A:-(ii) womid (iii)
B:-(i) bmmibd (iv)
C:-(i) womd (ii)
D:-Goman dlwl Siemenggio (i), (ii), (i) & (iv)
Correct Answer:- Option-D
Question73:-cuarj&sl Bljeunssslen lemelpb LT Seled 6Tl FHWmans) cTarLmss
SETL_MIWLE|LD.
(i) Feps-Curmermgmy Gobum()
(i) slLmu womib sresbsHelsE Ul L Guobum
(iii) wasemeT WIS C&ma GubLm()
(iv) @iflamrsgieussnE WpasHwggieud @eena
A:-(i), (ii) womid (iii)
B:-(i), (iii) wombd (iv)
C:-(i), (ii) wpmd (iv)
D:-Cuhaadlu sevenggibd (i), (i), (i) & (iv)
Correct Answer:- Option-A
Question74:-dlw Qung Blfeursd LHM YereumeuaTalmdled 6Tgl &ifluimeng)?
(i)  sealpur wHMID Bneuer wIHULsmeT euadlumssSng.
(ii) wealgmer 2 pusHuder smramilunss smEIFDG.
(iii) geps sFZIQSMS QNOSHTEGE DI
(iv) Ugiew wHmID WTHPSDS eIl mISSIH D).
A:-(i), (ii) wpmbd (iv)

B:-(ii), (iii) womibd (iv)



C:-(i), (iii) wpmd (iv)
D:-Cumnaadlu sevenggibd (i), (ii), (i) & (iv)
Correct Answer:- Option-C
Question75:-gal_(HL1 LMGSTLIL| 6TED S(HGSSH6M GUTLDLISET 6T6T60 ?
(i) <mangg prhsEpb Y sHrsllurara i upHlw Qurgleirer Liflgenas Clsmeiq (h85s
Couenrig W Sjeuflwibleoena.
(i) < sdrllureras erdlymen BLeallg&Hend BLL| SO UTHETTSTT A STULSSTE
s(H&sLUHeuSlemne.
(i) imansg BrHsEHL WSS TOILLTETHES rHrmar @usssdle Seudlwb LRCsnHs
Couemt(hLd.
(iv) emmdlmanhs Lossmed yssrlliurarany CaHmmaiqss (LplgLb.
A:-(i) womid (ii)
B:-(ii) whmid (iv)
C:-(ii) wpmibd (iii)
D:-(iii) bpmbd (iv)
Correct Answer:- Option-B
Question76:-uryibuflu gregbilrsdlen LaTLs6T Wemeumwrm Casmh&sLiLL (heTere.
FeUDTETEUDEMDS ST MHILIGLD.
(i)  oCrmibw epwLBSSILLL g
(ii) psflws Aaeraransuiler g liLien_udléd
(i) sepTwss sl
(iv) ienarsg BrHsEhsEL0 Fo (PSSLSSeUD
A:-(iii) bpmibd (iv)
B:-(ii) womid (iv)
C:-(i) wpmd (iii)
D:-(i) wpmd (iv)
Correct Answer:- Option-A

Question77:-Ceuefluymeys Carerensullen s (psdlwiwrer Crrésmisamer



19 eoreu (HeucmTeu H DI (HBE SevTL_Hlwe]Ld.
(i) Gadlwu menliLm el L1 LMTgISMésea L.
(i) Csflu Beoenes LITGI&TESLD.
(iii) QuTBETTSTT HOEETL LITGISHTESE|LD.
(iv) s7euCse Cadeinsams iHlsiflasea .

A:-(i), (i) wpmbd (iii)

B:-(ii), (iii) womid (iv)

C:-(i), (iii) womd (iv)

D:-Goman dlwl Siemenggio (i), (ii), (i) & (iv)

Correct Answer:- Option-D
Question78:-sjeuGss Fdlempd LHHL SeupTen FahniHFenars SeTLHiweLb.
(i) s7euCge Bilssmer Blrbsy Bloermsser eumdls.
(i) 58w priser sanuiulen 2 miliGenygermed WL (HEW HemIs (LPlgU|LD.
(iii) Brhser Lﬁgﬂ SL_Lmw aﬁasm;r GUTLDL| 2 6Terg).
(iv) @igen Qempg wpunsluie wpasdwbrear srauCses Wrsslmarser GNSs e @GSHamer
T(H&S AFETTLD 2 cTerg).

A:-(i) womid (iii)

B:-(ii) wmmid (iii)

C:-(iii) womid (iv)

D:-(ii) womid (iv)

Correct Answer:- Option-C
Question79:-eflfleurer amissS Corganen anl liLBSLD CsTLFurs ae;@lc_p
QaTh&s L (HETeT 2 aTenDSaMmeT <, TTlhgl Fflumer Ldlamead s PlweLb.
(i) Gelribuy 10, 1996 @emm &3.5m. QUTgF FarLwme HmGGsTeTaTlILL L g,
(i) <marsg Qrraniel CHTESBISEREETEH|D AW W USBIGMTS Senl CFUIEDG.
(iii) @pdwm, urdlevgmer LHMID el CsTRwT @b eUILIBSSE D
n&6W(PSSIL_allcbena.
(iv) Sianssd Brns omssflssiiuLTgsme QbW ULbSSEH
»&HCW(PSSL_allcbene.



A:-(i) wpmid (iv)
B:-(i) womb (iii)
C:-(iii) wHmibd (iv)
D:-Cupaadlu Siemensgibd (i), (ii), (iii) & (iv)
Correct Answer:- Option-B
Question80:-ur’_Lrefl aufss sfeumdlamrbd LHOIw ETF wrFsedler &msg LnHDlw
Yereu(md Fmpmisetled 618 FFlmeTene eTaTLInNSd SerL_dlie]| .
(i) urlLrefl eufse sfeundlamybd eremug wrisfwsHer @md s L omEL.
@& waeoraiggeusdlen Baparer eTégnigamer erencmermbd B&@&HDG!.
(iii) 2 pusgdl, aNHCLTED WHmD LFRLIHOLD FepSLWLLTESIL(HS e
(iv) gealeaimmelme@h leural] CoHamaels@hs@ hu 2ardlid eupmsLILIHS DS
A:-(ii) wpmid (iii)
B:-(i) wmmbd (ii)
C:-(i) womid (iv)
D:-(iii) wHmibd (iv)
Correct Answer:- Option-A

Question81l:-gGeentlienLis CaissHe .

9 5Crens lq-&if]
(i) euL gi(meud (a) 66.5°S
(i) eorLmiiqd euLl L LD (b) 23.5°N
(iii) Qgen g(mHeuLD (c) 66.5° N
(iv) <7898 el L LD (d) 23.5°S
A:-(i)-(b), (ii)-(c), (iii)-(d), (iv)-(a)
B:-(i)-(b), (ii)-(a), (iii)-(d), (iv)-(c)
C:-(i)-(a), (ii)-(c), (iii)-(b), (iv)-(d)
),

D:-(i)-(d), (ii)-(c), (iii)-(b), (iv)-(a)
Correct Answer:- Option-B

Question82:-sapmisener <y rmiihg Fflwner Lmos Coieytlaiis.

(i) Gemer jemeyCaHmed auamrLIL SMIBIGEETU{LD BloliLFliL] SITRIGmeTLLD [YeTearmbigerms



Geuafliu(gsliL(pb eNdsrany erawmrgenerls LiLiaL(hsd Uabhdng.
(i) e Quilw oerellevmen cuenyuLLd LSlufler Copupliien em SHw LiGdlenw
seanflarer eSleurmisEsl e S$sMEsIUL(heTeng).

A:-gmmm (i) 2_aorenio, sadmmi (ii) Seum)

B:-@\rair(h shmis@hLd Seumrerenal

Ci-anpm (i) seumi, sapm (i) 2 aweno

D:-@irenr(h snDmis@hLd 2 6mrenLo

Correct Answer:- Option-D
Question83:-Yemaupid sapmisetadlmbg Rlwner gmpamns CsihbolsH&seaLD.

A:-ySluller Cuopurliy wHmid Geraisa@, GlenLulemear eTéane @l LearblLis
Qgm_g&flufemenio

B:-Cem_gus@b evwisSnEhd Qe ullemer eréane GrCanrCrmeilsls
Qgm_j&flufemenio

C:-sLa CulGar®h wsflwwre urgreol womibd CalCHT S| 6T Falg Wl LOTo o9&
uremEenersd Clsmear(heTerg

D:-gar CuCar(® upmeeuliL) Limenm Senlients L (HGWw Glamer(hearerg

Correct Answer:- Option-C
Question84:-19emeumeusmeupdledlmBg Fflwirer Camgews CaibosH&se L.

A:-ieomaTiq & GlLmhisLe-cuamar@LT BCrmenL, @bdHluilt QumhisLe-Gwrsmblis
BCrrLid, udli9s Qummhis-@GrmaflCur G L b, SeTLTTigd CUHhISL -
&HNISEIHeu HGTTLL 1D

B:-o aonaimg s CLmmsL®-anmssime BCrmL b, @BbHws CLmhisL_6-
auamar@gLm BCrmenL, L&INE QupRiIsL-Gwremblsd FCrmLLb, eTLmigd
QumasL-G&CrmaflCwm FCrm L b

C:-sjlemenrigd GummisLe-@GCrmadGum SGrmLb, @bdlwis GumnisLeo-
Quwmremblas FCrmLib, L9 QuEFRISL@-aumer@GLT BCTTenL, 6T Mg
QuBBRISLO-&DnISS Heu BGFTLL LD

D:-oerLmijig & GlupaisLco-Clmemblis ﬁ@l;rrrl'_l_Lb, GBSt CumhisL_co-



&CrmadlGur CrmLwb, ufGs QRIS D-cuemer@LT BCTTaML, eTLTiY.&
QuBBISLO-&DnISEIHeu HGFTLL D

Correct Answer:- Option-A
Question85:-19emau(pLd sadmisetich ergl Heummeng?

A:-Geuiuwent_evd (Troposphere) e GsmhgeaflliLimer (H&E, 2wWrb 5 flEEw0
Gurmgy Ceuliubleney GepmaImsg

B:-21(h&@ wantevld (Stratosphere) eliSLeralle flaneowimer eupent i(H&E,
Cem@Sg QUSSHLD GMmDelns @)(Hé@LD

C:-80 £.18.5@ ECp 2 érer auaflweanreib Ganl GLrGrmeviGwiy erenm)
Snp&sLLIHS DS

D:-QsrCurevuldfler Wlss @Gamnbs <i(H&EE wCarmevlwf eremm)
S@P&ESILHS DG

Correct Answer:- Option-C

Question86:-QeventlienLid CaisEHeyLb :

Hlaipa Caél
(i) QuifiCanedwe (a) Qeliur 23
(i) <Canedwer (b) w&bLF 22
(i) @eflisme smdymhd (c) gereufl 3
(iv) @eeowydli o ssrmuemd (d) gg9ame 4
A:-(i)-(d), (ii)-(b), (iii)-(c), (iv)-(a)
B:-(i)-(c), (ii)-(d), (iii)-(b), (iv)-(a)
C:-(i)-(a), (ii)-(c), (iii)-(d), (iv)-(b)
D:-(i)-(b), (ii)-(a), (iii)-(d), (iv)-(c)

Correct Answer:- Option-B
Question87:-19emeumeusmeuphledlmpg sflwrear Camgewsd CaibosHése L.
A:-,0CLmevlpmLev-2 Wiy GlFm@sg Csbd
B:-&lrev-p(HSsr-Hlaney Clogmiger
C:-@paven-&medle oLdlemeuy cllgeuLd

D:-flibCumevl_gm_ev - @m@ Cumerm allg.elid



Correct Answer:- Option-C
Question88:-19eimeumeusmeud el (BB Seupmen Cmmgamuis CHiH0ES[HESELD.
A:-erLCumenrL - eer(h(meyld LMmeneULIL| LITenD&eT
B:-geuremntmDL|&&e0 - GUEITL 6V LITeHDHEET
Ci-suliqwier - Geueflliym upmepeuLliLy Lirenm
D:-Gaged - 2 (pommLll Lrenm
Correct Answer:- Option-D
Question89:-19emeu(meusmaupmled eTgl STHMlemTed o (Heumem ¢ eredlwer HleoriurLiL
S|ev?
A:-gmemmen LITenm
B:-£ifl&
Ci-wmyLmmsl
D:-saeo
Correct Answer:- Option-B

Question90:-gapmisener <, FmiiBg Fflwmer Lmesd CaibelsHEsHaw.

(i) QsHE S orargd QuBhsLaler @HUDLPLD STarTiLI(HD 6 BHETT 26TjeL 66 e

QGarsren Geubamerfler s snése CaTl LT iqHETer FTarmmELD.

(i) CQumrsLe sPls6r urgeurs Caumul L 5L (h eTamasaia 2 (Heumslemne.
A:-gapm (i) seuprengl, sgmpm (i) 2 amreno
B:-@\rair(h sahmis@hd o arenLn
C:-@rewr(h sadmISHEHLD S6UnTeTeney
D:-gampm (i) 2 amreno womid sapm (i) Seupreng)
Correct Answer:- Option-D
Question91:-2025 waflg Cuwbum () GOHWULligd Waed Lsg QL hisailed GL b Gubp
2w prHser
A:-aprign, farm (SAR)

B:-Slmisliyy



C:-sgluimer
D:-Liameneo
Correct Answer:- Option-A
Question92:-Yemaumd LiGHsaila ergl WSS anTaHsL efleusmuils LiGdludler em

uGHWTs @eama?
A:-gianSlwmelled (mbg L eOmaiqd SLHEHEnT euey 2 6Ter aul <, LIafl&sm
B:-euL_Com @, serm
C:-ws5lw Sl

D:-QsnE seCumieiwim
Correct Answer:- Option-B
Question93:-§Cip Qar@ssliLl(Heter srmsliumamggefley CsnHledl(hbgl euL_&@ erem
auflenguller CarBols(H&ESHe|D.
1. pr@srent srrsliuTms
2. Yy flunkiste] &raslUTmS
3. Smeulwmfl srasliLTens
4. CUmMgBMUSSETT &HIBISLLTDNS
A-2,4,1,3
B:-2,3,4,1
C-4,1,2,3
D:-3,2,4,1
Correct Answer:- Option-D
Question94:-'unpswrem LRGuTmeT S b QFTLFLTE G6melHLD gnbmigete

SEUDTETENG SETL_DUIGLD

A:-CaHlw Ap[HEpsmaneger epeld 299 el L BISEET @)6nemnTsse

B:-50 4w Caslw auflSSHLBISMET enLDSSE0

C:-pr(h ppeugid UL geT wHMmID Wwéseter @uisEssdlen ClFwudneaner
CubuBEgS®

D:-euL_dlipd @ wrbleomisepenmer CUTE@GUTSSE LHMID $56160 CgGTL[L
@eentliLsamer GCbL(HSSHIS



Correct Answer:- Option-A

Question95:-@)L bEuwie]s glewpulle (pemearanfl SjenwliLimer FfeuCss @)L bGlLWFey

SiemwLlider (IOM) sanenwsLd
A:-Qgafour, selll grembg

B:-Cams, Qpsrenmnbg)
C:-jwerm, CeymiyLme

D:-CarueanGamaer, GlLamomjs
Correct Answer:- Option-A
Question96:-19emeu(mid Semamsefled ereneu LITSST(H Wrall L SHleb DenLobII6Ters)?
1. Gursgienriy oienamr
2. Qmuwmy ojenemr
3. PEOSSITIIT D EHENT
4. Wwelwumy 6T
A-l1 &4
B:-2 & 3
C-2&4
D:-1 &3
Correct Answer:- Option-D
Question97:-CarliLenen sreblenad euansdLiLIm g6l ‘eumearL @6t F&mevld ol mesr_
QeuLILIDERTL v FausmenT Srblenaeniids @GDILILIg)
A:-AM
B:-AF
C:-AW
D:-ET
Correct Answer:- Option-C
Question98:-fleaumells weanesEsmLflen Siigourrsdled @enarrimer 8-16 &.15. LipliteTaied

srewTLILI(HLD FFeneT Hmib Falprmhisnsaafler L e gsefler enuwib
A:-Qgrm
B:-umury

C:-umnisy



D:-snsy

Correct Answer:- Option-B
Question99:-2020 <yib e BleveurliLilg 2 edled WgsLGuFlw Hlepissiul L Hleossi
@mlysames GgrerL B erg?

A:-Eeorm

B:-=1Qwilssm

C-@pghun

D:-2_gsenger

Correct Answer:- Option-B

Question100:-gemenrlienL CaFEse L. [emeu b @(HOL| LHMID 6To o 2ENEOEHENET
Sjeudmlen (PSS eIBIsEHL 6 GlLIT(HSS6LD.

(i) Lmm @@y wOHmID 6Teo@ Hlmeued (@) <yl GrGssid
(i) preglflu @evug Hlambd G (RINL) (b) #5656vai
(iii) elevGouaveurium @ HOL HMILD 6Too@ A  (C) SFBHTL&T
(iv) Deomi 6Teo@ penen (d) egmiysesTL
A:-(i)-(b), (ii)-(d), (iii)-(c), (iv)-(a)
B:-(i)-(b), (ii)-(d), (iii)-(a), c)
(

)-(
(iv)-(
C:-(i)-(d), (ii)-(a), (iii)-(c), (iv)-(b)
D:-(i)-(d), (ii)-(c), (iii)-(b), (iv)-(a)

(iv)-
Correct Answer:- Option-C



